
Problem Set #2

Macroeconomics, fall 2006

Due: Tuesday,  2/12/07. 10 A.M.

You should discuss these questions and the answers with other students but  write up your own answers. Answer all questions. 

•Question 1.  Economic Field work–Neoliberalism in the Neighborhood 

First, briefly identify and outline the key features of neoliberalism (economic policy, political implications and cultural traits). Next, identify your neighborhood specifically and the range of scale as outlined in the workshop. Explain what you found has changed in your neighborhood over the last 35 years and in what ways this has to do with the changing structure of the economy or not. Be sure to discuss what ways the lives of different women and men have changed over this period? Finally, discuss the differences AND similarities between the period in which Keynesianism was dominant and current period in which neoliberalism has become dominant. What might your neighborhood look like under other models besides these two? This should be 2-3 pages in length.

•Question  2. Consider a simple economy in which 150 people would like to be employed (this is the supply of labor). In order to make profits, capitalist hire some of the workers to produce grain. Those who are not hired are unemployed. Each worker produces 4 bushels of grain per year; the price of a bushel is $1.00. Workers are paid $2 per year. The workers spend all their wages buying grain to eat. The capitalists spend half their profits on consumption of grain and ½ they save. There is no foreign trade. Make any assumptions you need 

Part 1. Macroeconomic disequilibrium. 

In this part, no government spending or taxes. If capitalist invest $100 and 125 workers are employed.

   A. How many bushels will be produced ______

   B. What will be the aggregate supply in dollars? _____

    C. What will be the demand for consumer goods?

          1) by workers? $_____

          2) by capitalists?  $_____

    D. What is the total amount of savings? 

    E. What is the investment shortfall (savings minus investment)? $_____

     F. What will aggregate demand be? $_____

     G. Will aggregate demand equal aggregate supply?  ______ 

     H. Would you expect capitalists to continue to hire the same number, more or fewer workers? ___ Why? 

Part 2. Laissez-Faire unemployment equilibrium

  If instead of 125 workers, 100 are employed, investment remains  at $100

   A. How many bushels will be produced ______

   B. What will be the aggregate supply in dollars? _____

    C. What will be the demand for consumer goods?

          1) by workers? $_____

          2) by capitalists?  $_____

    D. What is the total amount of savings? 

    E. What is the investment shortfall (savings minus investment)? $_____

     F. What will aggregate demand be? $_____

     G. Will aggregate demand equal aggregate supply?  ______ 

     H. Would you expect capitalists to continue to hire the same number, more or fewer workers? ___ Why? 

     I. Why is this situation an unemployment equilibrium, what is the unemployment rate?

Part 3. A Keynesian employment policy,

The 50 unemployed get unemployment insurance at ½ their wage, $1 per year financed by government borrowing, deficit spending. Assume that investment remains at $100, employment is initially 100, what happens to aggregate demand. Assume unemployed spend all of their check, and people are either employed or unemployed.

   A. What will be the demand for consumer goods:

        1. by employed workers,  $____

        2. by unemployed workers, $___ 

        3. by capitalists, $___
    B. What is the total amount of savings, $___

    C. What is the investment shortfall (savings minus investment?) $____
     D. What is the government deficit, (expenditures minus taxes which are zero)

    E. Aggregate demand?  $_____
    F. Will aggregate demand = aggregate supply?

    G. Would you expect capitalists to increase employment?

     H. What might happen to the interest rate and investment?     

Part 4. Welfare state –

If employment now expands to 125 workers and the remainder get unemployment insurance of $1 per year, what happens? 

    A. What will be the demand for consumer goods by:

          1. by employed workers,  $____

          2. by unemployed workers, $___ 

          3. by capitalists, $___
B. What is the total amount of savings, $___

C. What is the investment shortfall (savings minus investment?) $____
D. What is the government deficit, (expenditures minus taxes which are zero)

E. Aggregate demand?  $_____
F. Will aggregate demand = aggregate supply?

G. Would you expect capitalists to increase employment?

H. How could you get full employment?

•Question 3. 

A. Explain how the employment and output multiplier work. What determines their magnitude? How could knowledge of the multiplier be applied by economic justice movements?

B. Explain fiscal policy, monetary policy and how they differ.

C. According to BER, Ch. 16, what determines whether higher wages will cause employment to increase, decrease?

•Question 4. 

Examine the federal tax cuts, income and other,  since 2000, Real World Macro, Ch 1, Ch 4. What is their likely impact on employment and the macroeconomy, the before and after tax distribution of income, social programs and spending. In your answer, examine carefully one or more of the tables, pp. 19., 52, 54, 55.






